Vaade C

N 10500 N
N 5750 . 1500 3250 N
& I ] L R
2300 || §.,
g
g ] 3
oS [ ] ] g
Vaade D . 1200 . 4000 § Vaade B
w8
8 & &
g g
* ‘ ‘ ‘ ‘ *
. 1500 . 1200 2600 L 1200 1500
N 8000 N
Vaade A |
Vaade A Vaade B
g g g
8 8
g 8 3 8 3
§ hiidroisolatsioon Ueplokk §
_§ 7
L 1 [N ] ]
\__Fibo taldmikuplokk
Vaade C Vaade C
g g
& 8
g~ 87
L ] 1 ]
SEINAPINNAD:
e Vaade A: 33,9-2,1-1,62-1,62 = 28,56m?
e Vaade B: 19,38-1,62-1,0 = 16,76 m?
e Vaade C: 33,9-1,8 =32,1m?
e  Vaade D: 19,38-1,62=17,76m? )
o Sisesein: 7,59-2,1 = 5,49m? M1:100

Seinapinnad KOKKU: 100,67m?




